BILL OF QUANTITY (BOQ)
Pengadaan Kontrak Payung Material Consumable PLTU Ropa

NO | ITEM NUMBER Description Qty Satuan
KONTRAK PAYUNG PENGADAAN KONTRAK PAYUNG MATERIAL KONSUMABEL PLTU ROPA
1 100000701 |THINNER, A SPESIAL, 1 LITER/CAN 100 CAN
2 100000988  [RELAY, SCHNEIDER ELECTRIC, RPM12P7, 230 V; 50/60 Hz 10 CAN
3 100000793 RELAY, ELECTROMAGNETIC, OMRON LY4N, 220/240 VAC, 10 A, 28 VDC 50 EA
4 100000825  [SOCKET RELAY, RELAY, ELECTROMAGNETIC, OMRON LY4, 220/240 VAC, 10 A, 28 VDC 40 EA
5 100000014 LAMP, PILOT, INDICATOR LAMP, YELLOW 40 EA
6 100000012 |LAMP, PILOT, INDICATOR LAMP, GREEN 40 EA
7 100000013 LAMP, PILOT, INDICATOR LAMP, RED 40 EA
8 100000950  |LAMP, TL PHILIPS, 36 W 200 EA
9 100000845 |ARMATURE LAMP, DUST PROOF; WATER PROOF; TL2 X 36 W 50 EA
10 100001066  |BALLAST,LAMP, PHILIPS, BALLAST EB-C 236 TLD, 36 W, 220 V 100 EA
11 100000850 PUSH BUTTON, SWITCH, DIMENSION: 22 mm SINGLE SWITCH; COLOUR: RED; SB2-ES542 30 EA
12 100000849  |PUSH BUTTON, SWITCH, DIMENSION: 22 mm SINGLE SWITCH; COLOUR: GREEN; SB2-EA31 30 EA
13 100000851 PUSH BUTTON, TWIST RELEASE, RED EMERGENCY STOP, DIMENSION: 40 mm MUSHROOM HEAD; SUITS: 10 A
22 mm; CONTACT: 1INO;1NC; CURRENT RATING 10A, 600 VAC
14 100000051  |FUSE, 2A, 500V 130 02, 10 x 38 11 100 kA 30 EA
15 100001555  |FUSE, 400V-20Ka V, 6 A, FERRAZ SHAWMURT CLASS AM 8X31 MM 30 EA
16 100001344  |FUSE, 500V-100kA V, 4 A, EWIG 6 10X38 MM 30 EA
17 100001295 |FUSE, 250V, 10 A 50 EA
18 100001296  |FUSE, 250V, 15 A 50 EA
19 100000685  [FUSE, CERAMIC, 500/660 V, 125 A 30 EA
20 100000496  |FUSE, 250V, 13 A 50 EA
21 100001297  |FUSE, 250V, 20 A 50 EA
22 100000497 |FUSE, 250V,5A 50 EA
23 100000086  [CARBON, BRUSH, TYPE D 172, 25x32x60 MM, GRAPHITE/RESIN BONED GRAPHITE 48 EA
24 100000722 CARBON, BRUSH, HOLDER SPRING GENERATOR, SHAPE; LEAF, STAINLESS STEEL 20 EA
25 100000133 TAPE,PIPE, 1/2; 10; PTFE; USE TO SEAL TAPE THREADED JOINTS ON METAL OR PLASTIC PIPE FITTING 150 ROLL
26 100000095 | MASK, NOSE AND MOUTH, 3 PLY NON WOVEN, ONEMED 70000 EA
27 | 100000102 |GLOVES,PURPOSE,GENERAL, DOTING, COTTON 7500 PAIR
28 100000084  |RAG, WIPING, COLOUR, COTTON 1200 KG
29 100000103  |SACK, PLASTIC, 50 KG 800 EA
30 100000036  |CABLE,TIES, 200x 2,5 MM, WHITE 60 PACK
31 100000015 |TAPE,ELECTRICAL, HIGH VOLTAGE, RUBBER, SCOTCH 23 60 ROLL
32 100000016 | TAPE,ELECTRICAL LOW VOLTAGE, VNYL, SCOTCH 33+ 60 ROLL
33 100000267 SANDPAPER GRINDING WHEEL, MODERN FLAP DISC, ALUMINIUM, OXIDE P80, #100X16 MM, MAX 400 A
15,200 RPM, MAX 80m/s
34 100000861 |WHEEL, ABRASIVE, POLISHING, 16 X 100 X 6 MM, 7 IN 100 EA
35 100000528 |WHEEL, ABRASIVE, POLISHING, 16 X 100 X 6 MM, 4 IN 200 EA
36 100001885 STEEL WIRE, BRUSH, LENGHT 27 CM, WIDE 3 CM, HIGH 3 CM, MATERIAL BAJA DAN KAYU 10 EA
37 100000044 WHEEL,CUTTING, CUTTING DISC; REFF : WD, T41 WA60, CUTTING FOR STAINLESS STEEL IRON & STEEL, 600 A
105X1.2X16 MM, 4" X 3/64" X 5/8", 4"
38 100001848 |WHEEL,CUTTING, CUTTING DISC; REFF: NIPPON RESIBON, 14" 20 EA
39 100001569 PENETRANT, WELD NDT, SPOTCHECK, MAGNAFLUX, 400ML/CAN, SKC-S CLEANER/REMOVER 12 CAN
40 100001568  [PENETRANT, WELD NDT, SPOTCHECK, MAGNAFLUX, 400ML/CAN, SKL-SP2 PENETRANT 12 CAN
41 100001567 PENETRANT, WELD NDT, SPOTCHECK, MAGNAFLUX, 400ML/CAN, SKD-S2 DEVELOPER 12 CAN
42 100001050 |PENETRANT, BELT DRESSING & CONDITIONER, 340 GR, PERMATE 80 CAN
43 100000033 PENETRANT, CONTACT CLEANER, PRECISION ELECTRONIC 60 CAN
44 100000031  [PENETRANT, OIL SPRAY, RUST RELEASE, 333 ML/CAN, WD-40 150 CAN
45 100001652 PENETRANT, POLYURETHANE, SEALANT FOAM IPU, 750 ML/CAN 30 CAN
46 100001659 |CONTACT GREASE 10 CAN
47 100000719 |GREASE,PURPOSE,GENERAL, MOLYCOTE 1000 10 CAN
48 100000533  |PAPER,ABRASIVE, 320 100 SHEET
49 100000042  |PAPER,ABRASIVE, 1000 200 SHEET
50 100000043  |PAPER,ABRASIVE, 500 300 SHEET
51 | 100002045 |PAPER, ABRASIVE, ROLL, 120 100 M
52 100002046  |PAPER, ABRASIVE, ROLL, 150 100 M
53 | 100002047 |PAPER, ABRASIVE, ROLL, 180 100 M
54 100000077  |BRUSH, PAINT, 5", HANDLE WOOD 200 EA
55 | 100000072 |BRUSH, PAINT, 1", HANDLE WOOD 200 EA
56 100000074  |BRUSH, PAINT, 2", HANDLE WOOD 200 EA
57 | 100000075 |BRUSH, PAINT, 3 ", HANDLE WOOD 200 EA
58 100000090  |SEAL,OIL, 25 MM, VITON, 37, 25x37x7 MM; TC 10 EA
59 100000027 |SEAL,OIL, ID 35 MM, VITON, ID 50 MM, TC 35X50X12 MM 10 EA
60 100000337 |SEAL,OIL, TC 35X80X13 MM 10 EA
61 100000355  |SEAL,OIL, TC 80X95X8 MM 10 EA
62 100000353  |SEAL,OIL, 88 X 75X 8 MM 10 EA




63 | 100000305 [SEAL, OIL, TC 35X65X12 10 EA
64 | 100000307 [SEAL, OIL, FB 50X72X12 10 EA
65 | 100000354 |SEAL,OIL, TC 70X88X8 MM 10 EA
66 | 100000566 |SEAL,OIL, ID: 35 MM, VITON, OD: 50, TC 35X50X11 MM 10 EA
67 | 100000838 [SEAL,OIL, TC 45X60X9 MM 10 EA
68 | 100001233 [SEAL,0OIL, TC 30 X 50 X 10 MM 10 EA
69 | 100001234 [SEAL,0IL, TC50 X 72 X 15 MM 10 EA
70 | 100001332 [SEAL,OIL, TC 55 x 78 x 12; FOR GEAR BOX TRAVELING MM 10 EA
71| 100001403 [SEAL, OIL, TC 60 X 85 X 12 10 EA
72| 100001514 |[SEAL, OIL, TC 65 X 85 X 12 10 EA
73 | 100001572 [SEAL,OIL, TC 45X59X10 MM 10 EA
74 | 100001975 [SEALRING, OIL, 35 X 56 X 10 MM, RUBBER 10 EA
75 | 100002115 [SEAL,OIL, 63.0 MM, 93.6 MM, WIDTH 15 MM, TSN 515 L 10 EA
76 | 100002117 [SEAL,OIL, 85 MM, PUR, LENGTH 345 MM, OVERALL HEIGHT 212 MM, TSN 519 L 10 EA
77 | 100002118 [SEAL,0OIL, 85 MM, PUR, 212 MM, LENGTH 345 MM, TSNA519G 10 EA
78 | 100001732 [SEAL,0OIL, TURNING GEAR, TC 65X90X12 MM 10 EA
79 | 100001731 [SEAL,0OIL, TURNING GEAR, TC 40X65X10 MM 10 EA
80 | 100001223 |RUBBER, COUPLING, H 95 100 EA
81 | 100001637 [COUPLING RUBBER, BOLT, M8, F1, 8 X 50 50 EA
82 | 100001638 |COUPLING RUBBER, BOLT, M10, F2, 10 X 56 50 EA
83 | 100002128 [COUPLING RUBBER, BOOSTER PUMP, IDD 200 FCL 50 EA
84 | 100002126 |COUPLING RUBBER, BOLT, M24, F5, 25 X 100 50 EA
85 | 100002127 [COUPLING RUBBER, BOLT, M24, F6, 28 X 116 50 EA
86 | 100002123 |COUPLING,SHAFT, LK-110, RUBBER 30 EA
87 | 100002125 [COUPLING RUBBER, BOLT, M20, F4, 20 X 85 50 EA
88 | 100002158 |COUPLING,SHAFT, FCL 315, RUBBER 50 EA
89 | 100002124 [COUPLING,SHAFT, FCL 112, RUBBER 50 EA
90 | 100002064 |RUBBER, COUPLING, ROTEX GR-48 16 EA
91 | 100001868 |RUBBER, COUPLING, LK-90 30 EA
92 | 100001772 |COUPLING RUBBER, BOLT, M12, F3, 14 X 64 50 EA
93 | 100001884 |RUBBER, COUPLING, LK-105 30 EA
94 | 100000427 |CABLE,SCUN, 16 MM, TYPE Y 50 EA
95 | 100000426 [CABLE,SCUN, 14 MM, TYPE RING 50 EA
96 | 100000424 |CABLE,SCUN, 10 MM, TYPE Y 50 EA
97 | 100000425 [CABLE,SCUN, 12 MM, TYPE RING 50 EA
98 | 100000423 |CABLE,SCUN, 8 MM, TYPE RING 50 EA
99 | 100000422 [CABLE,SCUN, 8 MM, TYPE Y 50 EA
100| 100000421 |CABLE,SCUN, 14 MM, TYPE Y 50 EA
101| 100000372 |[CABLE,SCUN, 10 MM, TYPE RING 50 EA
102| 100000420 |CABLE,SCUN, 12 MM, TYPE Y 50 EA
103| 100000419 |CABLE,SCUN, 6 MM, TYPE RING 50 EA
104| 100000418 |CABLE,SCUN, 6 MM, TYPE Y 50 EA
105] 100000235 |CABLE,SCUN, 35 50 EA
106| 100001352 |CABLE,SCUN, 1.5 MM, TYPE O 100 EA
107| 100001349 [CABLE,SCUN, 1.5 MM, TYPE Y 100 EA
108| 100001353 |CABLE,SCUN, 1.5 MM, TYPE | 100 EA
109| 100001886 |CABLE,SCUN, Y 25 50 EA
110 100001343 |CABLE,SCUN, 4 MM, TYPE O 50 EA
111| 100000011 |CABLE,SCUN, 150 30 EA
112| 100000010 |CABLE,SCUN, 120 50 EA
113| 100001614 |CABLE,SCUN, 50 50 EA
114| 100001351 |CABLE,SCUN, 2.5 MM, TYPE | 100 EA
115] 100001387 |CABLE,SCUN, 16-8 50 EA
116| 100001386 |CABLE,SCUN, 10-6 50 EA
117| 100001350 |CABLE,SCUN, 2.5 MM, TYPE O 50 EA
118| 100000373 |CABLE,SCUN, 16 MM, TYPE U 50 EA
119] 100000007 |BELT,V, SPC 5300 LW, HEIGHT: 18 MM, TOP WIDTH: 22 MM, LENGTH : 5300 MM, OPTIBELT 24 EA
120| 100000071 |BELT, V, HEIGHT: 18 MM, TOP WIDTH: 22 MM, LENGTH: 5500 MM, SPC 5500 LW, OPTIBELT 24 EA
121| 100000009 |BELT,V, SPB 2473 LW, HEIGHT: 13 MM, TOP WIDTH: 17 MM, LENGTH : 2473 MM, OPTIBELT 32 EA
122| 100000008 |BELT,V, SPC 4600 LW, HEIGHT: 18 MM, TOP WIDTH: 22 MM, LENGTH : 4600 MM, OPTIBELT 48 EA
13| 100000001 |BELTV, A-42, HEIGHT: 5/16 ", TOP WIDTH: 1/2 ", INSIDE LENGTH: 42 " OUTSIDE LENGTH: 44, OPTIBELT 20 A
124l 100000005 | BELT/V, B-106, HEIGHT: 7/16, TOP WIDTH: 21/32, INSIDE LENGTH: 106" OUTSIDE LENGTH: 109", " A
OPTIBELT
15| 100000006 |BELT/V, B-58, HEIGHT: 7/16", TOP WIDTH: 21/32", INSIDE LENGTH: 58" OUTSIDE LENGTH: 61 IN, N A
OPTIBELT
16| 100000002 | BELT/V, A-45, HEIGHT 5/16 ", TOP WIDTH 1/2 ", INSIDE LENGTH 45", OUTSIDE LENGTH 47, OPTIBEL 20 A
127| 100000091 |[ROD,WELDING, 2,6 X 350 MM, RB-26, SMAW AWS A5.1 E6013 60 KG
128| 100000092 |ROD,WELDING, 3,2 X 350 MM MM, LB-52, SMAW AWS A5.1 E7016 60 KG
129] 100000019 |ROD,WELDING, RB 26, 3.2 X 10 MM, AWS A5.1 E6013 60 KG




130| 100000020 [ROD,WELDING, NSN 308, 3.2 MM 30 KG
131| 100001592 |ROD,WELDING, ER. 805-B2, E8018-B2, GTAW/SMAW 60 KG
132| 100001594 |ROD,WELDING, TG-S50, GTAW 60 KG
133| 100001595 |ROD,WELDING, E. 7016, E7018, SMAW 60 KG
134| 100001593 |ROD,WELDING, ER. 316 L. E 316 L, GTAW/SMAW 60 KG
135| 100001596 |ROD,WELDING, E. 309-16, SMAW 60 KG
136] 100001867 |ROD,WELDING, STAINLESS STEEL, 2.4 * 1000 MM, TG-S308L, AWS A5.9 ER308L 60 KG
137| 100001866 |ROD,WELDING, STAINLESS STEEL, 2.4 * 1000 MM, TG-S309L, AWS A5.9 ER309L 60 KG
138| 100000023 [BOLT, HEXAGONAL, M12X70 MM, MAT : STAINLESS STEEL 100 EA
139| 100000022 |BOLT, HEXAGONAL, M16X35 MM, MAT : STAINLESS STEEL 100 EA
140| 100000339 |BOLT, HEXAGONAL, + NUT, RING, M10, 50 MM, STAINLESS STEEL 100 EA
141| 100000340 |BOLT, HEXAGONAL, M10, 40 MM, STAINLESS STEEL 100 EA
142| 100000274 |BOLT, STAINLESSTEEL, L, 6 X 20 MM, STAINLESSTEEL 100 EA
143| 100000438 |BOLT, HEXAGONAL, M8 X 40 MM, STAINLESS STEEL 100 EA
144| 100000369 |BOLT, HEXAGONAL, M8; LENGH : 30 MM, MAT: STAINLESSTEEL 100 EA
145| 100000507 |BOLT, HEXAGONAL, M10 X 60 MM, STAINLESS STEEL 100 EA
146] 100000544 |BOLT, HEXAGONAL, + NUT, M16 X 60 MM, CARBON STEEL 100 EA
147| 100000500 |BOLT, HEXAGONAL, NUTS, M16 X 140 MM, MAT : STAINLESS STEEL 100 EA
148| 100000524 |BOLT, HEXAGONAL, M12 X 50 MM, STAINLESS STEEL 100 EA
149| 100000525 |BOLT, HEXAGONAL, + NUT, M6 X 30 MM, STAINLESS STEEL 100 EA
150 100000523 |BOLT, HEXAGONAL, + NUT, M8 X 55 MM, STAINLESS STEEL 100 EA
151| 100000536 |BOLT, HEXAGONAL, + NUT, M12 X 40 MM, BAJA STEEL 100 EA
152| 100000545 |BOLT, HEXAGONAL, + NUT, M16 X 50 MM, BAJA STEEL 100 EA
153| 100000630 |BOLT, HEXAGONAL, + NUT, M12 X 40 MM, STAINLESS STEEL 100 EA
154| 100000535 |BOLT, HEXAGONAL, & NUT, M12 X 50 (BOLT, NUT, RING PLAT) MM, BAJA 100 EA
155| 100000542 |BOLT, HEXAGONAL, + NUT, M14 X 50 MM, BAJA STEEL 100 EA
156] 100000543 |BOLT, HEXAGONAL, + NUT, M14 X 60 MM, BAJA STEEL 100 EA
157| 100000546 |BOLT, HEXAGONAL, + NUT, M16 X 45 MM, BAJA STEEL 100 EA
158| 100000537 |BOLT, HEXAGONAL, + NUT, M12 X 60 MM, CARBON STEEL 100 EA
159| 100000538 |BOLT, HEXAGONAL, + NUT, M8 X 60 MM, STEEL/GALVANIS 100 EA
160 100000539 |BOLT, HEXAGONAL, + NUT, M8 X 50 MM, STEEL/GALVANIS 100 EA
161| 100000540 |BOLT, HEXAGONAL, + NUT, M8 X 40 MM, CARBON STEEL 100 EA
162| 100000541 |BOLT, HEXAGONAL, M14 X 40 MM, CARBON STEEL 100 EA
163| 100000517 |BOLT, HEXAGONAL, NUT & RING, M16, 120 MM, MAT : STAINLESS STEEL 304/316 100 EA
164| 100000898 |BOLT, HEXAGONAL, M24 X 100 MM, STEEL/GALVANIS 100 EA
165| 100001007 |BOLT, HEXAGONAL, M10, 50 MM, BAJA STEEL 100 EA
166] 100001006 |BOLT, HEXAGONAL, M16, 120 MM, MAT : CARBON STEEL 100 EA
167| 100001120 |BOLT, HEXAGONAL, M6 X 20 MM, STAINLESS STEEL 100 EA
168| 100001125 |BOLT, HEXAGONAL, M6 X 80 MM, STAINLESS STEEL 100 EA
169| 100001126 |BOLT, HEXAGONAL, M12 X 10 MM, STAINLESS STEEL 100 EA
170] 100001005 |BOLT, HEXAGONAL, M8 X 45 MM, STAINLESS STEEL 100 EA
171| 100001004 |BOLT, HEXAGONAL, + NUT, RING, M24 X 70 MM, CARBON STEEL 100 EA
172| 100001159 |BOLT, HEXAGONAL, M16 x 50, STAINLESS STEEL 100 EA
173| 100001201 |BOLT, RUBBER KOPLING, M12 x 65, ID RUBBER: 17 mm, OD RUBBER: 29,5 x 18 mm 100 EA
174| 100001144 |BOLT, HEXAGONAL, NUTS, M12 X 70 MM, CARBON STEEL 100 EA
175| 100001145 |BOLT, HEXAGONAL, M8 X 50 MM, STAINLESS STEEL 100 EA
176] 100001147 |BOLT, HEXAGONAL, M16X40 MM, MAT : STAINLESS STEEL 100 EA
177| 100001146 |BOLT, HEXAGONAL, M16X35 MM, MAT : BAJA STEEL 100 EA
178| 100001318 [BOLT, + NUT, RING M16 x 20, STAINLESS STEEL 304 100 EA
179| 100001127 |BOLT, HEXAGONAL, + NUT, M12 X 80 MM, STAINLESS STEEL 100 EA
180] 100001560 |U BOLT, 3" 100 EA
181| 100001609 |BOLT, L, FULL DRAT, 10X 50 MM, BAJA STEEL 100 EA
182| 100001563 |UBOLT, 14" 100 EA
183| 100001564 |UBOLT, 1" 100 EA
184| 100001570 |BOLT, L, FULL DRAT, 8 X 50 MM, BAJA STEEL 100 EA
185| 100001562 |UBOLT, 2" 100 EA
186| 100001565 |U BOLT, %" 100 EA
187| 100001553 |BOLT, HEXAGONAL, + NUT, M16 x 40, STAINLESS STEEL 100 EA
188| 100001561 |U BOLT, 24" 100 EA
189| 100001566 |U BOLT, %" 100 EA
190 100001571 |BOLT, L, FULL DRAT, 12 X 60 MM, BAJA STEEL 100 EA
191| 100001615 |BOLT, HEXAGONAL, NUTS, M10 X 70 MM, BAJA STEEL 100 EA
192| 100002057 |BOLT, HEXAGONAL, + WASHER & NUT, M16 X 70 MM, SUS 304 100 EA
193| 100002139 |BOLT, HEX HEAD, M30 X 230 MM, STAINLESS STEEL, FULL THREAD, INCLUDE NUT 40 EA
194| 100002136 |BOLT, SOCK HEAD,, M8 X 40 MM, IINCLUDE WASHER, SPRING 100 EA
195| 100002140 |BOLT, HEX HEAD, M22 X 120 MM, STAINLESS STEEL, FULL THREAD, INCLUDE NUT 40 EA
196| 100002137 |BOLT, SOCK HEAD,, M12 X 54 MM, IINCLUDE WASHER, SPRING 100 EA
197| 100001964 |BOLT, HEXAGONAL, M16 X 100 MM, S5304/316 100 EA
198] 100001969 [BOLT, U, 2 IN, $5304 100 EA
199| 100002132 |BOLT, SOCK HEAD,, M16 X 35 MM, BAUT L, FOR SPREADER 100 EA
200 100002135 |[BOLT, SOCK HEAD,, M12 X 36 MM, IINCLUDE WASHER, SPRING 100 EA




201| 100001737 [BOLT, HEXAGONAL, M12 X 40 MM, FULL DRAT + MUR + RING PLAT, ID FAN 100 EA
202| 100001695 |BOLT LONG DARAT, SS, M10 x 250 MM + NUT 100 EA
203| 100001725 [BOLT, STAINLESS STEEL, M12 X 58 MM 100 EA
204| 100001853 |BOLT, HEXAGONAL, + NUT, M24 X 160 MM, CARBON STEEL 40 EA
205| 100001854 |BOLT, HEXAGONAL, + NUT, M20 X 160 MM, CARBON STEEL 100 EA
206| 100000485 |PACKING STICK, GLAND, 10 MM, PTFE (PURE TEFLON) 3 ROLL
207| 100000573 [PACKING STICK, GLAND, 8 MM, GRAPHITE, MERKEL UNISTAT 6303 PTFE 5 ROLL
208| 100000574 |PACKING STICK, GLAND, 10 MM, GRAPHITE, MERKEL UNISTAT 6303 PTFE 6 ROLL
209| 100000848 |[PACKING STICK, GLAND, 4 MM, UNISTAT 6303, PURE GRAPHITE WIRE 6 ROLL
210| 100000357 |PACKING STICK, GLAND, 12 MM, ASBESTOS 10 ROLL
211 100001106 |PAINT, GARDEX PREMIUM GLOSS, WHITE, 0,9 LITER 40 CAN
212| 100001163 |PAINT, GARDEX PREMIUM GLOSS, RED, KODE WARNA 3000, 0.9 LITER 40 CAN
213| 100001108 |[PAINT, GARDEX PREMIUM GLOSS, JOTUN, GREEN, SIGNAL GREEN 7075( RAL 6032 ) 0,9 LITER 40 CAN
214| 100001105 |PAINT, GARDEX PREMIUM GLOSS, BLUE, JOTUN RAL 5017 TRAFFIC BLUE, 0,9 LITER 40 CAN
215 100000880 |PAINT, GARDEX PREMIUM GLOSS 149, GREY, 0.9 40 CAN
216| 100001613 |PAINT, GARDEX PREMIUM GLOSS, BLACK; 363, 0,9 LITER 40 CAN
217| 100001612 |[PAINT, GARDEX PREMIUM GLOSS, JOTUN; YELLOW, 0,9 LITER 40 CAN
218| 100001597 |RUBBER PACKING, 5 MM, DENSITY 1200 20 SHEET
219| 100001598 |RUBBER PACKING, 3 MM, DENSITY 1200 20 SHEET
220| 100001100 |GASKET,PURPOSE,GENERAL, 0.5 MM, TBA FIREFLY 10 SHEET
221| 100001099 |GASKET,PURPOSE,GENERAL, 1 MM, TBA FIREFLY 10 SHEET
222| 100000489 |GASKET,PURPOSE,GENERAL, 0.8 MM, TBA FIREFLY 10 SHEET
223 100001552 |[PACKING TOMBO, 1303, 2 MM 6 SHEET
224| 100001633 |PACKING TOMBO, 1303, 1 MM 6 SHEET
225 100002035 |[PACKING TOMBO, 1303, 5 MM 10 SHEET
226| 100002034 |PACKING TOMBO, 1303, 3 MM 10 SHEET
227| 100001251 |ADHESIVE, AICA AIBON, 1 KG, NETTO 700 GR 20 CAN
228| 100000697 |ADHESIVE, PIPE PVC, 500 ML/CAN 40 CAN
229| 100002061 |ADHESIVE, RETAINING COMPOUND, 50 ML 20 CAN
230| 100000622 |ADHESIVE, THREADLOCKER, 50 ML/EA 20 CAN
231 100002019 |ADHESIVE, CYANOACRYLATE, W-20, 50 G 50 CAN
232| 100000814 |ADHESIVE, ANABOND 100 GM HEAT SINK COMPOUND, 652C 10 CAN
233| 100000047 |ADHESIVE, EPOXY HARDENER, 48 G, FOR METAL STEEL 20 CAN
234| 100001837 |ADHESIVE, RUBBER CEMENT, 0.7 L/CAN, FOR CONVEYOR 15 CAN
235 100000049 [SEALING COMPOUND, RED SILICONE, 85 G/EA, GASKET, HIGH TEMPERATURE 100 EA
536 100000562 | TAPE-PIPE, APLICATION FOR : PVC; FIBERGLASS; ALL METAL PIPES;, FIBERGLASS COATED 2 A
POLYURETHANE, ATMOS BANDAGE
237| 100000745 |FILTER, OIL, SEPARATOR ELEMENT; PN 02250137-895; FOR: COMPRESSOR SULLAIR 24 EA
538 100000746 | F'LTER, HEAVY-DUTY AIR FILTER 02250157-044; PN 02250125-371; FOR: COMPRESSOR SULLAIR 2 A
539 100000736 | F'LTER OIL, ASSEMBLY 02250155-708; PART NUMBER 02250155-709;FOR COMPRESSOR SULLAIR 2 A
50| 100000215 | FASTENER,KIT,CLAMP, FLEXCO CONVEYOR BELT FASTENERS; PLATE FASTENERS STEEL, 190C; ITEM N bACK
CODE: 20013; FLEXCO-LOK BELT TAPE
241 100000367 |FLEXCO QUICK-FIT, 140E 30 PACK
242| 100001653 |ACCU, WATER, 1000 ML/BOTTLE 50 CAN
243 100000241 |[CLAMP, ACCU CLAMP, N120, BRASS 20 EA
244| 100000296 |CLAMP, HOSE, 2 " 20 EA
245 100001252 |CLAMP, HOSE, 1IN 20 EA
246| 100001963 |CLAMP, HOSE, 1/2 IN 20 EA
247| 100001304 |CLAMP, HOSE, 3/8 IN 20 EA
248| 100001008 |NIPPLE, NIPLE GREASE, 12 MM 20 EA
249| 100000591 |NIPPLE, NIPLE GREASE, 8 MM 20 EA
250| 100000056 |NIPPLE, NIPLE GREASE, 10 MM 20 EA
251 100000055 |NIPPLE, NIPPLE GREASE, 6 MM 20 EA
252| 100000602 |SEAL; RUBBER, VITTON, 4 MM 20 M
253 100000681 |SEAL; RUBBER, NBR, 5 MM 20 M
254| 100000680 |SEAL; RUBBER, VITTON, 3 MM 20 M
255 100000949 |CLEANER, DRATHON, HIGH CONCENTRATED CLEANER; DR11 80 L
256| 100000947 |MOTOR, CLEANER, DRATHON; DR13 80 L
257 100001710 [FAN, Y2-71, ID 14 MM, 12 MM TANPA SPIE, ALTERNATIF D-71 15 EA
558 100001610 |FAN- B132; DIAMETER INSIDE 28 MM, 4POLE-7.5HP/10HP, DIAMETER AS: 28 MM; OUT: 228 MM, s A
EXTERNAL FAN PLASTIC CIRCULATING WATER EJECTOR C
259 100001586 |FAN D 100, 4 POLE-3HP/4HP, DIAMETER AS: 23 MM, OUT: 180 MM, EXTERNAL FAN PLASTIC CCWP 5 A
260 100001172 |FAN- Y132 (2 POLE-7, SHP/10HP), (4 POLE-7, SHP/10HP), ID: 38 mm, OD: 185 mm, PLASTIC, FAN MOTOR| A
BLADE VIBRATING SCREEN
261 100000855  |FAN- D120 (UTUH), ID, 18 (DIAMETER SHAFT DIKURANGI SP1) MM, OD; 15 (TOTAL), OD, 98 (TANPA 5 A
KIPAS) MM, PLASTIC; FAN SCREW FEEDER DAN SPREADER
262| 100000674 |FAN, MOTOR TEFLON, DIAMETER SHAFT 75 MM, DIAMETER FAN 335 MM 20 EA




FAN, Y2 180 - 2.30 HP, 22 KW, DIA LUBANG AS - 52 MM, DIAMETER SELURUH 240 MM, 5 SIRIP, MOTOR

263| 100000486 10 EA
PLASTIC
264| 100001803 |PLATE, SHEET, SHIM PLATE, STAINLESS STELL SUS 304, 0.75 X 300 X 1000 MM 5 EA
265| 100001795 |PLATE, SHEET, SHIM PLATE, STAINLESS STELL, 0.1 X 300 X 1000 MM 5 EA
266 100001799 |PLATE, SHEET, SHIM PLATE, STAINLESS STELL SUS 304, 0.3 X 300 X 1000 MM 5 EA
267| 100001798 |PLATE, SHEET, SHIM PLATE, STAINLESS STELL SUS 304, 0.25 X 300 X 1000 MM 5 EA
268| 100001804 |PLATE, SHEET, SHIM PLATE, STAINLESS STELL SUS 304, 2 X 300 X 1000 MM 5 EA
269| 100001802 |PLATE, SHEET, SHIM PLATE, STAINLESS STELL SUS 304, 0.6 X 300 X 1000 MM 5 EA
270 100001801 |PLATE, SHEET, SHIM PLATE, STAINLESS STELL SUS 304, 0.5 X 300 X 1000 MM 5 EA
271| 100001800 |PLATE, SHEET, SHIM PLATE, STAINLESS STELL SUS 304, 0.4 X 300 X 1000 MM 5 EA
272| 100001796 |PLATE, SHEET, SHIM PLATE, STAINLESS STELL SUS 304, 0.2 X 300 X 1000 MM 5 EA
273| 100001797 |PLATE, SHEET, SHIM PLATE, STAINLESS STELL SUS 304, 0.15 X 300 X 1000 MM 5 EA
274| 100001539 |PLATE,SHEET, SHIM PLATE, 1000 X 100 X 0,05 5 EA
275| 100001538 |PLATE,SHEET, SHIM PLATE, 1000 X 100 X 0,03 MM 5 EA
276| 100001537 |PLATE,SHEET, SHIM PLATE, 1000 X 100 X 0,02 MM 5 EA
277| 100001536 |PLATE,SHEET, SHIM PLATE, 0.01 5 EA
278| 100000956 |PLATE,SHEET, SHIM PLATE, 0.8 MM 5 EA




